
7𝑥𝑥 + 3𝑦𝑦 = 11 
5𝑥𝑥 + 𝑦𝑦 = 3 

1. Based on the system of equations above, what is the value of  2𝑥𝑥 + 2𝑦𝑦  ? 

 

 

 

 

4𝑥𝑥 + 3𝑦𝑦 = 10 
3𝑥𝑥 + 2𝑦𝑦 = 8 

2. Based on the system of equations above, what is the value of  𝑥𝑥 + 𝑦𝑦  ? 

 

 

 

 

4𝑥𝑥 + 5𝑦𝑦 = 11 
6𝑥𝑥 + 10𝑦𝑦 = 9 

3. Based on the system of equations above, what is the value of  2𝑥𝑥 + 3𝑦𝑦  ? 

 

 

 

 

9𝑥𝑥 − 7𝑦𝑦 = 13 
𝑥𝑥 − 3𝑦𝑦 = 17 

 
4. Based on the system of equations above, what is the value of  𝑥𝑥 − 𝑦𝑦  ? 

 

 

 

 

 

 



 

 

 

Answers: 

1. 8 
2. 2 
3. 4 
4. 3 

 


